
)-2 (TeV2Λ / WWWc
-2 -1 0 1 2

)
-2

 (
T

eV
2

Λ
 / 

Wc

-2

0

2

4

 (13 TeV)-135.9 fbCMS
Expected 68% CL Expected 95% CL
Expected 99% CL Observed 95% CL
SM point Best-fit

)-2 (TeV2Λ / WWWc
-2 -1 0 1 2

)
-2

 (
T

eV
2

Λ
 / 

Bc

-10

0

10

 (13 TeV)-135.9 fbCMS
Expected 68% CL Expected 95% CL
Expected 99% CL Observed 95% CL
SM point Best-fit

)-2 (TeV2Λ / Wc
-2 0 2

)
-2

 (
T

eV
2

Λ
 / 

Bc

-10

0

10

 (13 TeV)-135.9 fbCMS
Expected 68% CL Expected 95% CL
Expected 99% CL Observed 95% CL
SM point Best-fit


